
APT-TECH 
Company Specific Test 

 

 

1. Look at this series: 36, 34, 30, 28, 24, ... What number should come next?(ASKED IN HEXAWARE) 

  a) 20                         b) 22                        c) 23                      d) 26 

   

 2. Look at this series: 22, 21, 23, 22, 24, 23, ... What number should come next?(ASKED IN TCS) 

  a) 22                            b) 24                                c) 25               d) 26 

  

 3. Odometer is to mileage as compass is to (ASKED IN ACCENTURE) 

  a) speed                       b) hiking                          c) needle d) direction 

 

4. Cup is to coffee as bowl is to (ASKED IN TECH MAHINDRA) 

   a) Dish             b) soup                            c) spoon       d) food 

 

5. SCD, TEF, UGH, ____, WKL (ASKED IN ACCENTURE) 

   a) CMN                  b) UJI                              c) VIJ                              d) IJT 

 

6. FAG, GAF, HAI, IAH, ____ (ASKED IN TECH MAHINDRA) 

   a) JAK                   b) HAL                            c) HAK                           d) JAI 

   

7. Marathon is to race as hibernation is to (ASKED IN TCS) 

   a) winter      b) bear           c) dream              d) sleep 

 

8. Which word does NOT belong with the others? (ASKED IN TECH MAHINDRA) 

   a) parsley      b) basil          c) dill             d) mayonaise 

 

9. Which word does NOT belong with the others? (ASKED IN TCS) 

   a) inch      b) ounce          c) centimeter d) yard 

 

10. Which word does NOT belong with the others? (ASKED IN ACCENTURE) 

   a) tyre      b) steering wheel c) engine d) car 

 

11. Melt : Liquid :: Freeze :   (ASKED IN TECH MAHINDRA) 

  a) Ice                     b) Solid               c) condense d) Push 

 

12. CUP : LIP :: BIRD :  (ASKED IN ACCENTURE) 

  a) Grass     b) Forest             c) Beak              d) Bush 

 

13.Which word could mean “ceiling tile”? (ASKED IN TECH MAHINDRA) 

  a) Gorbltusl                          b) flurgorbl                      c) arthflur                      d) pixn arth 

 

  



14. Peter is in the East of Tom and Tom is in the North of John. Mike is in the South of John then in which 

direction of Peter is Mike?  (ASKED IN ACCENTURE) 

  a) South-East                       b) South-West                  c) South                        d) North-East 

 

15.  If in a certain language, NOIDA is coded as OPJEB, how is DELHI coded in that language? (ASKED IN 

TCS) 

 a) CDKGH                         b) EFMIJ                         c) FGNJK                  d) IHLED 

 



 

 



 

 


